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 Stoichiometry Part 2 


           Substance A





   Substance B
Keep track of all of your units, including compounds, by using dimensional analysis.

EXAMPLE 1 (Mass-Mass): How many grams of copper (II) oxide are formed in the decomposition of 6.59 g of
copper (II) hydroxide?




Cu(OH)2 ( CuO + H2O
EXAMPLE 2: If excess sulfuric acid reacts with the 30.0 g of sodium chloride, how many grams of sodium sulfate are produced?





___H2SO4 + ___NaCl ( ___HCl + ___Na2SO4
EXAMPLE 3 (Volume-Volume): What volume of oxygen is used to convert 75.0 L of SO2 to SO3? Assume STP.
2SO2 + O2 ( 2SO3
EXAMPLE 4 (Mass - Volume): 
How many liters of hydrogen gas are produced if 15.9 g of hydrochloric acid reacts with excess zinc metal? Assume STP.






____Zn + ____HCl ( ____ZnCl2 + ____H2
EXAMPLE 5 (Volume - Particles): How many aluminum ATOMS  are required to produce 14.5 L of hydrogen gas in a reaction with sulfuric acid? Assume STP.  





___Al + ___H2SO4 ( ___H2 + ___Al2(SO4)3
EXAMPLE 6 (Particles - Mass): How many grams of water are produced if 4.5 x 1024 molecules of oxygen gas, O2, reacts with excess hydrogen gas?






2H2 + O2 ( 2H2O
Stoichiometry Homework pt. 2
Solve the following, showing all work as directed INCLUDING UNITS!  You may assume all gases are measured at STP.

1.
How many grams of potassium chloride are produced if 25.0 g of potassium chlorate decompose?


2KClO3  ( 2KCl + 3O2

2.
What volume of ammonia at STP is produced if 30.0 g of nitrogen is reacted with an excess of hydrogen?


N2 + 3H2 (2NH3
3.
What volume of carbon dioxide gas is released when 5.00 L of ethanol, C2H5OH, is burned?


C2H5OH + 3O2 ( 2CO2 + 3H2O

4.
How many molecule of chlorine gas is produced when 45.0 g of aluminum chloride is decomposed?


2AlCl3 ( 2Al + 3Cl2

(Be Careful….The following are NOT balanced!)

5.
What mass of potassium sulfate is required to react with 35.0 g of aluminum bromide?


___AlBr3 + ___K2SO4 ( ___KBr + ___Al2(SO4)3
6.
If 20.0 liters of oxygen are consumed in the reaction below, how many molecules of water vapor are produced?


___C3H8 + ___O2 ( ___CO2 + ___H2O

7.
What volume of hydrogen at STP is produced when 2.50 g of zinc reacts with an excess of hydrochloric acid?


___Zn + ___HCl ( ___ZnCl2 + ___H2
8.
What mass of iron must be used to produce 125 g of iron (III) oxide?




___Fe + ___O2 ( ___Fe2O3
